r=% Rz% S=§a2§ aR 5+[ 5\/@2
!
=1 cos72° £ =1
!
) ] !
y J |
m=3.14

—
—

w




sin cos ?
180° = i 180°
a<b+c a,b,c>0
a,b,c olb-cka<b+ce b<c+a
c<a+b
A > 0°
AB.C - B > 0° \
C > 0°
A+B+C =180°
[Th.] [
2 L 1
a b c AN
SinA  sinB sinC \X/

SINA
[ 2

a’=b%+c’ —2bccosA

sin,cos \\
sin A=-2 cosA—L tan A A
2R /
< a’ <b2+c
IR .a -
sin A =acosB +bcosA
| /Qﬂ
[ ]
0/6\b
X
a’ b
labsin26?=laxsin6?+lbxsin6?
2 2 2
a:b [ 1
2
a X b
[ ]
c c

[Th.]

a’+b%*=2(x*+¢?)
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ori.

5=
2
S—lbcsinA 1 i cac? A abc
= E [ start] =Ebc 1-cos? A (») =R
r a+b+c
S:sr{ S—sr s=— -

S=.s(s-a)(s—h)(s-c) - *)
S 1 (mm@@
—E|X1y2_xzy1| - %, Ys)

s=laFlbF -@By

*)
1. - - 1
S = laxb|= /(@b - asb,)” + (b, — aby)? + (ab, — a,b,)* -

[ 1L | AN ]
dx

N w

1 .
S :Erlr2 |sin(6,-6,)| <«

S'=S|cosd| S = nzab wallis

I k 1 1 1 1 1
lim=» f(=-)=| f(X)dx S=1+=+=4+—+--+—
z (n) IO 9 2 3 4

n>® Nt n

Ioavaz —deX %ﬂ'az 47



X— - -
X _Y=Y% (X, ;) u=(m,n)
m n
ax+by+c=0 n=(a,b) :(b —a) or (-b,a)
:+b742‘c>0 ax+by+c=0
X +y +ax+by+c=0 |2 a b U = (b,—a) or (b, a)
( ] Wy )
azz+—2—c<0
0
[ ] d r
R>r>0
Key d
R,r R+r
< d=R-r < d=R+r
d= & R-r<d<R+r
[ 7 < d<R-r < d>R+r
1- <
[ 1X X+ Yoy =r" (X —a)(x—a)+(y, —b)(y—b)=r (ié;f; ?f?fx\
[ 1
nx, + mx, Ny, +my, na+ mb Na +mpg
m+n  m+n m+n m+n
a+b a+f a+tb+c o+p+y a+brc+d
2 2 3 3 4
[ |
d:|ax1+by1+c|[ ]
va? +b?
L 1L 11
1
S=E|le2—xzyl|[ 1
k(e R) . fxy)+ka(xy)=0  f(xy)=0 g(xy)=0

[] f(x,y) =X +y? +ax+by+c=0 g(x y)=x>+y>+ax+by+c=0

f(x,y)+kg(x,y)=0 (k=1

,g(xy)=0
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y(Y)

S o
(¥, (X y), (XL y7), (u,v), (p,q), (a,b), (a, B), s, t.m e x(X)
(X,Y) T
XY 1?12
- L ]
Z Xy
[ 1] W [ 1 XLy
z Z W w (xy) Xy.x,y x',y")
~
w=t@ | L] vom L]
[ 1 Plp a, f a, f
Q(a + B,apf) a,p
[ ] P’ P’ !
P P A < P,P A 7&\\
, P,P' | P
P P I Q{PP'LI( )[ 1
X y

o A6 G L) GG AL

TN < T

y =-X
x) (0 1)x XY (0 -1)x X'} (cos@ —sind) x
y'_10y y'_—10y y'_sine cos 8 )y
y =mx(m=tand) =2 20
[ Jw = z(cos 26 + isin 26) ﬁﬁ&ﬂFONM@*”ﬂ R(—0)-x mw)]
[ 1 sind coy {0 -1){sin(H) cos(o)
)
D [ ] A
c0s20 —sin20\(1 0 cos20  sin26 y = (tan 8)x
[sinze cosZHJ(O —1] sin20 —cos 20
1 (1-m* 2m m=tang
1+m’| 2m m’-1
D —>
)
y > f(x) (x—a)’+(y—-h)? <r? x*+y*>x
f(xy)>0 f(xy)<0- f(x,Y) [ ]

[ 1 fxy=0 AB
xy <1 ﬁ%%? <X Zﬁ%@ - A(ab),B(c,d) f(xy)

fx,y)9(x,y) <0 «

< f(a,b)x f(c,d)<0

[ ] f(x,y)=ax+by+c=0
- f(x,y) (X0, ¥o)

[]

|x-alr,|z-alr _ax, +hy, +c

d=
|2-al<k|z- ] k=1 49 Jat st

1




ori..

[ ] Ori.
y — X x? +y? Xy ﬁ
y-—ax=Kk (X, y) a
a
y k X,
L y)
k X, Y
k
(x=-D*+y* (@0) (xy)
x-1
]Iogx sinx sinx+2 f(x)—f(@) (x+1)(x-2)
X X cosx—1 X—a x—1 \
- 7| =90 =Ftxy)
[ 10 I 1 t 2=9)=0
F(t,x,y)=0,y="f(x) (teR) Ft,x)=0
= t (x,y) >,
ot F(t,x,y)=0 t (x,y)
o z=gt)=F(t,xy) t (x,Y)

| [ o Hy-a-v¥ =t + -’

t

C:X+y*—2tx-2(1-t)y=0

0Oy

=3 2(x—Yt=x>+y* -2y e
t (x.y)
ot g(t) = 2(x— y)t+ (x* +y* = 2y) AN
t (x,y) g(t)=mt+n /
< 2(x-y)=0 x> +y> -2y =0 t
P:y=ax’*+(1-a)x+3-2a (a=0) 1 l/
=3 (x*-x-2)a=y-x-3 |L[ 1(-12)@5 /
(a=0) (x,y)
< a g(a)=(x*-x-2)a-y+x+3 V4 | >
a (a=0)
& x?-x-2=0 —yY+x+320 g(a)=ma+n
a
X —x-2#0 ~y+x+3=0 E————
F(x,a)=0 T~

a
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0<t<1
< g(t) = 2t?

L1y =(2t-1)x -2t + 2t

=2(x+Dt+x+y 0<t<1 (X,y)
= 0<t<1 t
D/4=(x+12—2(x+y) >0 [X
g(t) x+1 1 y ]
o) 0= =<l 20s—m=1 y = =2t + 2(x + 1)t -
9(0) =x+y=0 |- 20 X+1)2+ x?+1
g =—x+y>0 X 2 2
<t<1 \ 0<t<1
0g(t \ \ [ (x-a)’
< g9(0)g@) =(x+y)(-x+y)<0 ]
XA+l y
y = t
[ 16 = (cosf)x—cos26 | 2
cosé =t ~1<t<1 = —1)*= x=2t-1
y =tx—(2t* -1) 0<t<1
C, X+ y +x+(2k+D)y+k*+1=0 —1<x<1
<k K> +2yk + x> +y? +x+y+1=0 (X,y)
& D/4:y2—(x2+y2+x+y+1)<0.'.y>—x2—x—1:_(x+3)2_% V
- 3 S
0<t<1 Iy =3(t* -1)x -2t° /
< g(t)=2t°-3xt> +3x+y 0<t<1 (X,V) 4/ //
& z=g(t) =2t° -3xt* +3x+y [ 1y = -2t +3x,t% - 3x,
t 0<t<l1 (x,y) y'=—6t* +6x,t = —6t(t — X))

2'=g'(t) = 6t> — 6xt = 6t(t — X)
t=0,x

] (envelope )

g'()=0

[

t=0,x,

0<t<1

1y =x*-3x
(t,t® —3t)
y—(-3) =3 -3 (x-1)

x<0
A< x
O0<x<1

f(x,y,1) = (=3t* +3)x +1y + 2t°

oF (X y,t) _ (-6t)x+0y + 6t°
{xa:t t
y =t3 -3t
y=x"-
I, y=x*-3x
(Xx—t)*(x+2t)=0 x =t
0<t<1 [ ]

[

g(0)<0A g >0

g(0)>0A g(l) <0

g(x)<0Ag(0)>0
g(x)<0Ag@® =0

]

{C.}

CO!
{C.}
f(x,y,a) =0
f(x,y,a)=0 %
f,(x,y,a)=0

a
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[Def.] =N
P
P
[ 1] ,
k k k=1
_
y? =4px (p=0) F(p,0) [:x=-p O > <
2 2
X—2+z—2=1 (@a>b>0) F(aZ-b20) F'(—Ja?-b?0) 2a
a
2 2
o rr=l@>0b>0  F(a'+b 0 F(~a’+b%0) 2a
a
b
\ y:igx
—
x“=4py(p=0)  F(0,p) l:y=—p /\
2 2
X—2+Z—2=1 (b>a>0) FOWb?-a?) F'(0,—b?—a?) 2
a
2 2
X——ty)—=—1(a>o,b>0) FOa’+0’) F'(0—a’+b) o
a
b 2 2
y=+—X ax + 2bx + 2cy +dy
~ a a b X
(p.a) f(x-py-0)=0 4 y)[c dj[yj
(p,q) R:[C?Sg —sinﬂj [x]:R[x]
axX +hxy+cy? +dx+ey+f =0 o C;S?:Rl 2
- on ccon (s DR(})
A>0B>0 .
2 2 _ (X Y) s
A"+ By =1 1 AB<0 (0 ﬂ](Y]
w(2+ 2
(A#0,B%0) |A<0,B<0 /3’[ ]
F _PF P
J ¢ PH x*+y?=1
P g ( X —y*=1
H PF y? =x
O<ex<l e:ﬁ [ ]
e=1
l<e \
[ 1
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[0 1 Fxy=0 P

F(XmYO):O P (Xo’YO)
)
V= apx e | X P P(f (1).9(1)
y=2pt P(r,0)
X =a+rcosd
(x-a)Y’+(y-b)?’=r" < _
- ~ (r>0) y=b+rsing
=rcosd x=a(@ -sing
. . X+y'=r’s X _ { ( ) (a>0)
X = a+tu y=rsind y =a(l—cosO)
{x:x1+at N r(l—t?)
= X=af-bsing
y=y, +ht (-r,0) = 1+t? { (a,b > 0)
(—tand _2nt y=a-bcosd 2 2 "2
\(x1+at,y1+bt) -7 y_l+t2 x3 +yd=ad
x>y’ x=acosf ( \ [x=acos’d
_+_=1c> 3/y2 3 2:3 2
a2 b2 {y:bSInH 0 {y=asin39<:>\/x>+\/y> \/a>
(@>0,b>0) X_a(l—tz) tanizt
T 1+t2 ot x=sinmt (0<t<2x)
2bt Sin@:ﬁ _
= +1 y = cosnt
1+1t2 1—t2
cos @ = 5
1 x=— o X = 0c0sé
= cos 6 _ 2 = _
y=btang| "7 ¢ {y:HSinﬁ er=0
(a>0,b>0) Calet?) y=t(x+1)
(-a,0) S 1-t° gfm Xx=e"’cos@
B 2bt " o r=e”?
T 1_t . y=e"sin@
[ ] X*+y> =2 (xy,zel)
cos?9+sin?9=1 -t 2t o
D (l+t2) +(l+t2) 1
S (@-tP)P (207 = L+ t7)? tel
F(x*y%x,y)=0 (%01 Yo) [ |
X2 XX LYY,y ,x—>X+X° ,y—>y+y0 X1 [%
2 2 Y=Y [+9 |+
X + X X, X Y,y X, X Y,Y
ﬁyoy:4p 5 <, aoz + boz =1 ;_2_ boz =1 (Xo’yo) z %
XX+ Yoy =r° (X, —a)(x—a)+(y,—b)(y—b)=r?
m F(x%,y2\X,y) =0
X2 +y? =r? m y=mx+rym?+1
2 2 <
X_2+E)’_2=1 m y =mx + rya’m? + b?
a
y? = 4px m y =mx+2
m
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[Def.] O OX ri ’
Ox —Oy ) OX 0 0 X
X A (p.q)
P (r,6) P (X,Y) y
_ A y
X = rcos 6 P(X, y) T EQ:P
y = rsin 6 p A X
> X
=y >0 O x| o
r=1(0) [ ] X=rcosf+p
r=10) < rcosf = f(@)cow@ x = f(@)cosd y = rsin9+q
rsing = f(0)sin@ y = f(6)sind \ J
x—rcose (r,0)
y =rsin 6
- L ot
y=4(t) - ) /
O A(rl’el)iB(rZ’ez) S:Erlrzsinlel_ezl
D [ 1r>0;(-r,0)=(r,0+n) )
as0=a,r (r.0)
X X=a< rcosd=a ’
& reos(@-a)=p
a X*+y*=a’<r=a 0 W,
a(>o0
2 2 2 ( ) [ ] \
(x—-a)*+y° =a" < r=2acosd
FP:PH =e:1 r:la—rcosf|=e:1
ea —ea FA,FB
PI.O) S T ecoso “1-ecosd
r “/ O<exl e=1 l<e /
Y0 , -
F(O) A X F o)
r="~(60) . r="1(0)
) r=1+cosé - X =(1+cos @) cos b )
y =(1+cos @)sin _ X = 6cos O
_ r=0 .
) r=sinngd X =sinn@cos y=0sin@
y =sinndsin @
) r=e’, r=e” p=a

A=A tanl®




ori.

Easy Graph hiroshima-cdas.or.jp/home/hamada/
X=a6@-bsing
y =a-bcosd

X =a(@—sin )
y =a(l-cosO)

(a=1)

T T,
L . o {
& L
i\ b
f b

X=C0s0+0sin 0
y =sin @ —6cosf

r=1+cosé

T

{x —acos’ 0

y =asin®0

2 2

X3 +y3=as

(a=2b=3)

(a=1)

2

x>0,y>0

X = (1+ cosé)cosl
y = (L+cosd)sin @
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{

X =2c0s68 +cos30
y = 2sin 6 +sin 30

r:0<:>{

X = 6coso
y =0sin@



17

oy

|
Q|
+
ol
+
o\

[Th.]
L L 1L 1
f:I:s {_— Sllncc:)i p ‘ R C:)@'
[ ]

[Th.] [
~ab=cd @ac+bd_xy

'C]

S=(s-a)(s-b)s-c)(s—d) s= a”””d -
Cs2




[Quiz] [hint] [ ]

[ 1 [ 1 |

[ ] S =4rr? V:%nrg
C JI[™h.] a A « | A

(AO La)A(AB LI)= OB LI

(AO La)A(OB L1)= AB LI
(AB L1)A(BO LI1)A(AO LOB)= AO L« /\éévl/
(04

[ ]

( Vv :gas @: V=;r(Sl+Sz+Sg+S4)

[ J[good idea]

S(t)
v =[s(at
c ]
z=k

Z=k Xy X—y [ ] [ ]
Z =k N (k) K

x=p M(p) Pk ;

Kk

YM(p)  NK) Y ©
" 1=k AT
ZN(k) M > X z=Kk




= =
- = a b ax+by=
[ ] [Ax=b e =[P = XY =P -
c dly q cx+dy=q
§¢9(A*1 ) x=A'Db a_b_p E=E¢E
c d c d ¢ c d q
[ jax=b )a’ x=a’b
ya=0 Ox=hb b=0 b=0
- - _ A=A(A)=0
D Ax=0 [ 2 b\ x _ 0 - ax +by =0 _ ()_
c dly) (o cx+dy =0 ad—lg)C—O
a
D >< c d
A71
a b~ - - a b 1/ ,
—#—(A )  x=0 —=— A — 7
c d c d —
[ ] ax=0 a x=0 Ax=0 .
a=0 0x=0 Ax=0 x=0
ax=0 x=0 < a=0 < A(A)=ad —bc=0
[] )| Ax=kxax#0 < [2 1 _ (%) 1 [*¥).(°) = ax+by=kx(x’y)¢(0’0)
c djy y y 0 cx +dy = ky
X A k A
[JAx=kx Ax—kx=0  (A—KE)x=0
x#0 ( )< A(A—KE)
@(a—k bJ A=(a-k)d-k)—bc=0
c d-k
o k?—(a+d)k+(ad —bc) =0 ( )
k  k, A [ ]
[ ] A:(?’ 1J tr 7,A 10 -1:1(4 —j
2 4 10-2 3
A* —-7A+10E =0, k? -7k +10=0 2,5
(L) teofy) o0 (43 eeefs g
-1 2 -1 2 0 5
— /’
ax’+bx+c  (a#0) y=ax’+bx+c N

AL NN
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